A 2113 SHAFT SUPPORT

A 2106 ARM ADAPTER ASSY

w/ BUSHING (4) A 2111 CROSSTUBE
FOR HEATED BODIES
\\> 2112 SHAFT COLLARS

- —-

I T I ERONT |
\
-—2.50 /||||\ — -—2.50 _l o
A 2123 SHAFT
A 2112 SHAFT COLLARS
UP AGAINST BEARING FLANGE
BUSHING FLANGE
CENTERLINE OF BODY
A 2112 SHAFT 8_._.>mm|/ FRONT OF BODY A 2110 BELLCRANK ASSEMBLY
| N\ | |
I — [—1.0p TYP. I
.|_ ] h _L
1 1 I I 1 1
—| —1.00 REF.
| | [
I~
I~

NOTE: ON ALUMINUM BODIES,

THESE BRACKETS ARE TO BE |

BOLTED USING 1/2" HARDWARE N
PROVIDED

I~
I~ |
| A 2123 SHAFT FOR 96" BODIES

(| A 2124 SHAFT FOR 102" BODIES

[T——A 2121 CLEVIS PIN w/ COTIER

L\k 2103 CYLINDER YOKE
A 2102 PNEUMATIC CYLINDERS (2)

——A 2122 CLEVIS PIN w/ COTTERS

A 2109 BASE MOUNT FOR CYLINDER

A 2139 EXTENSION PLATE
CUT TO FIT

3/8-16 x 1" HHCS Gr. 5
3/8 LOCKWASHER
3/8—16 HEX NUT

TYP. —4— PLCS.

BUSHING TO FACE OUT
FROM BODY

SHAFT SUPPORT QUTBOARD
MOUNTING DETAIL FOR BODIES
w/ FLARED FLOORS

A 2118 ALUMINUM MOUNTING ANGLES

3/8-16 x 1" HHCS
3/8 LOCKWASHER
3/8-16 HEX NUT

TYP. —8— PLCS.

SHAFT SUPPORT MOUNTING
DETAIL FOR ALUMINUM BODIES
NO SCALE

Pioneer Consolidated Cor,

North Oxford, MA 01537
A 2100 INSTALLATION DRAWING

DWG. NO. A 2100-1

SCALE:NONE _uiz. BY:ENH




